EE-802 (C) (GS)
B.Tech. VIII Semester
Examination, May 2023
Grading System (GS)
EHV A.C. and D.C. Transmission
Time : Three Hours

Maximum Marks : 70
Note: 1)  Attemptany five questions.
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i1) All questions carry equal marks.
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ii1) In case of any doubt or dispute the English version
question should be treated as tinal.
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1. a) » What is DC link in HVDC and what is the difference
between EHV AC and HVDC transmission system?
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b) Whatis Bipolar link and why is bipolar link commonly
used?
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What is FACTS controller and write different basic types
of FACTS controllers and what is the application of
FACTS devices?

FACTS e 11 2 3R faftysr war & FACTS it oy
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What are the basic components of SSSC and how does

Static Synchronous Series Compensator (SSSC) affect
the power flow through a transmission line?
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What are the main components of HVDC transmission
explain different types of HVDC links?
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A load has an cffective power of P = 50 KW at 400 V and
the power factor is to be compensated from cos@ =0.75
to cosg =0.95. Determine the required capacitive power
and power and current before compensation.
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What is HVDC VSC system and why DC transmission

systems are preferred for transmission of power for very
long distances?

HVDC vSC momelt 72 & 3ik s sidt g8t o forg foiefl &
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b)» When two power systems are connected through AC ties

the automatic generation control of both systems have to
be coordinated using? Explain it.
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5. a). How are travelling waves attenuated in practice on over
head lines? Explain.
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b) A traveling wave of magnitude 100 V in transmission line
of surge impedance 400 ohm passes into a c_able of surge
impedance 50 ohm. What will be the magnitude of wave
while travcling in cable? .
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6. a) A surge voltage of I0kY travels alogg; a cable towards i:ts
' junction with overhead line. The surge impedance of the _ca‘mc
and the overhead line is SO ohm and 450 ohm rfzspecuvely.
The surge voltage transmitted to the overhead hkncs-.-
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b) - What are the causes for switching and power fI‘CqueI?'Cy
over voltages and what causes a generator 1o produce high
voltage? '
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7. a) ¢ What are the basic converter control characteristics anq

what is firing angle control?
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b)# What are the causes of arc back in HVDC and why
harmonics are generated in HVDC system?
HVDC 3 31 4% & @1 Rvr & 3k HVDC Riwen 3
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8. a) Whatis SVCand STATCOM and why is STATCOM used

in load flow?
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b) What is the effect of changing the firing angle and what
is relation between firing angle of thyristor and speed
control?
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